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QUESTION 1

Transformation: Referring to Active and Passive characteristics - Select the statement which is correct and true.
A. If a transformation\\'s Active property is cleared or not enabled, the transformation becomes passive

B. A transformation is active if it does not change the number of rows in the pipeline

C. Transformations can be active and passive at the same time

D. A passive transformation will not change the number of rows in the pipeline

Correct Answer: D

QUESTION 2

What function would transform 12.99 to 13.0 and 15.44 to 15.4? (choose one)
A. ROUND

B. TRUNC

C. INSTR

D. CONCAT

Correct Answer: A

QUESTION 3

Refering to the Lookup transformation, which statement is correct and true?

A. The lookup condition defines how much memory each of the two caches will consume
B. The lookup condition defines the fields that are used in the search of the data

C. The lookup condition is limited to only the equal operator

D. The lookup condition is designated in the ports tab interface via the "L" check box

Correct Answer: B

QUESTION 4
Which of the following Is NOT true of Aggregate functions?
A. You can place an aggregate function in a variable port

B. You can add a filter condition to calculate values for specific rows In the selected ports
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C. You can use operators to perform arithmetic within the function
D. You can calculate a single value for all rows in a group

Correct Answer: A

QUESTION 5

Given this picture of a PowerCenter Mapping and assuming there is no SQL override in the Source Qualifier:

W

s

PRODUCT_CO

ST [Oracle)

PRODUCT [Qra SA_PRODUCT_ SC_STG_PROD
cls) PRODUCT_CO UCT [Dracle)

1)
Identify all of the true and correct statements listed below. Choose 2 answers
A. This picture depicts a join that will be processed within the Informatica PowerCenter engine
B. This picture depicts a join that will be processed in a database
C. This picture depicts a SQL UNION operation
D. This picture depicts an Informatica Homogeneous Join

Correct Answer: BC
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